



B.Y.O permit (Corkage \$2 per glass)

Note: please advise the waiter of any food allergies when ordering.

Restaurant capacity is 100 guests If you are looking for a venue to have a party or any other functions, give us a call and we will make a special night for you.

We can cater for all occasions.

All about cooking fresh food We do not use coconut oil, milk, cream or cooking wine.

We specialize in vegan, vegetarian and gluten free dishes.

OPEN

7 Days a week

CONTACT

345 Lonsdale St Dandenong VIC 3175 03 8774-6778 0423-511-477 INFO@SALANG.COM.AU WWW.SALANG.COM.AU

Set Menu



SALANG BANQUET

\$70 PER PERSON (MINIMUM 2 PEOPLE \$140)

1.MANTOO & ASHAK (Entree)
2.Four types of kebab (Tikka, chicken, shami & Chopan)
Tikka - Lamb Backstrap, Chicken - Thigh fillet, Shami - Minced lamb,
Chopan - Lamb on bone
3.EGGPLANT

Golden fried eggplant topped with a touch of light garlic yogurt & herbs.
4.QABULI PALOW

Basmati rice tossed with grated carrots & sultanas.
5.ORANGE PALOW

Basmati rice tossed with orange peel, pistachio & almonds.
6.SPINACH
7.SALAD & BREAD

CHEFS BANQUET

\$60 PER PERSON (MINIMUM 2 PEOPLE \$120)

1.BOLANI (Entree) pumpkin or potato flat pastry
2.THREE types of kebab (Tikka, chicken & SHAMI)
Tikka - Lamb Backstrap, Chicken - Thigh fillet, Shami - Minced lamb
3.EGGPLANT

Golden fried eggplant topped with a touch of light garlic yogurt & herbs.
4.QABULI PALOW

Basmati rice tossed with grated carrots & sultanas.
5. ORANGE PALOW

Basmati rice tossed with orange peel, pistachio & almonds.
6.MANTOO

Dumplings - pastry filled with minced lamb & vegetables, topped with lentils & yogurt.
7.SALAD & BREAD

SPECIAL BANQUET

\$55 PER PERSON (MINIMUM 2 PEOPLE \$110)

1.BOLANI (Entree) pumpkin/potato pastry
2.THREE types of kebab (Tikka, chicken & CHOPAN)
Tikka - Lamb Backstrap, Chicken - Thigh fillet, Chopan - Lamb on the bone.
3.EGGPLANT

Golden fried eggplant topped with a touch of light garlic yogurt & herbs.
4.QABULI PALOW

Basmati rice tossed with grated carrots & sultanas.

5.ORANGE PALOW

Basmati rice tossed with orange peel, pistachio & almonds.
6.MANTOO

Dumplings - pastry filled with minced lamb & vegetables, topped with lentils & yogurt.
7.SALAD & BREAD

BANQUET 1

\$50 PER PERSON (MINIMUM 2 PEOPLE \$100)

1.MANTOO (Entree)
2. TWO types of kebab (Tikka & chicken)
Tikka - Lamb Backstrap, Chicken - Thigh fillet
3.EGGPLANT
Golden fried eggplant topped with a touch of light garlic yogurt & herbs.
4.QABULI PALOW
Basmati rice tossed with grated carrots & sultanas.

5. ORANGE PALOW

Basmati rice tossed with orange peel, pistachio & almonds.

6.SALAD & BREAD

BANQUET 2

\$45 PER PERSON (MINIMUM 2 PEOPLE \$90)

1. MANTOO (Entree) 2.TWO types of kebab

(CHOPAN & chicken)Chopan - Lamb on the bone, Chicken - Thigh fillet, 3.EGGPLANT

Golden fried eggplant topped with a touch of light garlic yogurt & herbs.
4.QABULI PALOW

Basmati rice tossed with grated carrots & sultanas.

5. ORANGE PALOW

Basmati rice tossed with orange peel, pistachio & almonds.
6.SALAD & BREAD

VEGETARIAN BANQUET 1

\$55 PER PERSON (MINIMUM 2 PEOPLE \$110)

1.BOLANI (Entree) pumpkin or potato flat pastry
2.EGGPLANT
Golden fried eggplant topped with a touch of light garlic yogurt & herbs.
3.QABULI PALOW

Basmati rice tossed with grated carrots & sultanas. 4.ORANGE PALOW

Basmati rice tossed with orange peel, pistachio & almonds.
5.VEGETARIAN MANTOO.
6.SPINACH

7.DHAAL 8.SALAD & BREAD

VEGETARIAN BANQUET 2

\$50 PER PERSON (MINIMUM 2 PEOPLE \$100)

1.VEGETARIAN MANTOO (Entree) 2.EGGPLANT

Golden fried eggplant topped with a touch of light garlic yogurt & herbs.
3.QABULI PALOW

Basmati rice tossed with grated carrots & sultanas.
4.ORANGE PALOW

Basmati rice tossed with orange peel, pistachio & almonds. 5.POTATO & BEANS.

6.DHAAL

7. SALAD & BREAD